
 
17.32
440.0  

 
17.32
440.0  

4X M10X1.5 MAX
25mm DEEPA

A

B

B

CABINET ALIGNMENT PINS

CABINET LOCKING
INSTALLATION PINS

CABINET RELEASE LATCHES

CABINET TIGHTENING
INSTALLATION LEVER

4X HANDLES

2.98
75.8

MINIMUM

[3.11]
78.9

MAXIMUM
 

.07
1.7  

 
2.64
67.0  

CUTOUT FOR TIGHTENING
INSTALLATION LEVER

 
19.69
500.0  

 
19.69
500.0  

 
.04
1.0  

 
.52
13.2  

 
28
707  

 
.84
21.3  

 
15.75
400.0   

1.97
49.9  

2X 
.39
10.0

HANDLE (REMOVABLE)

CABINET CONNECTING MAGNETS

CABINET LOCKING PINS
INTERFACE LOCATIONS

CABINET ALIGNMENT CUTOUTS

SECTION A-A
SCALE 1 : 3

AC POWER INPUT
(100-240VAC)

DATA INPUT/OUTPUT

 
20.24
514.1  

SECTION B-B
SCALE 1 : 3

AC POWER OUTPUT

DATA INPUT/OUTPUT

REVISION HISTORY
ECO ZONE REV. DESCRIPTION DATE APPR'D

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

-----------------------------------

TOLERANCES:

ENGR BY

DRAWN BY

CHECKED BY

USED ON

MATERIAL

FINISH

MRW

 
 

12MAR20
PLANAR SYSTEMS, INC.
1195 NE COMPTON DRIVE
HILLSBORO, OR 97006 USA

VVR
TITLE

SIZE

D
PART NO.

-
DRAWING NO.

VVR OUTLINE
REV

A
SCALE

1:3 DO NOT SCALE
SHEET

1 OF 5

050-0218-02 REV B

THIRD ANGLE PROJECTION

DIMENSIONING AND TOLERANCING PER
ASME Y14.5M-1994

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS [INCHES].

=  ±1°

XX=  ±.25

.X=  ±.5

X=  ±1

 

MODULE RETENSION MECHANISM DIFFERS BETWEEN INDOOR AND 2.
OUTDOOR MODULES AND PITCH SIZES.

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTIFICATION.1.

NOTES: UNLESS OTHERWISE SPECIFIED.



 
9.83
249.8  

 
9.83
249.8  

4X MAGNETIC MOUNTS
ALIGNMENT PIN

ALIGNMENT PIN

 'A' SEE TABLE 

HANDLE

INDOOR UNIVERSAL ACCESS LED MODULE
2.5, 2.9, 3.9, 4.8mm PIXEL PITCH

MODULE THICKNESS
'A'

PITCH SIZE mm in
2.5 mm 15.1 .59
2.9 mm 17.6 .69
3.9 mm 16.5 .65
4.8 mm 17.7 .70

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

-----------------------------------

SIZE

D
PART NO.

-
DRAWING NO.

VVR OUTLINE
REV

A
SCALE

1:1 DO NOT SCALE
SHEET

2 OF 5

050-0218-02 REV B

LED MODULES ARE LEFT/RIGHT SPECIFIC. DIMENSIONS ARE MIRRORED 2.
BETWEEN LEFT/RIGHT MODULES. LEFT MODULE IS DISPLAYED.

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTIFICATION.1.

NOTES: UNLESS OTHERWISE SPECIFIED.



 
9.84
249.9  

 
9.84
249.9  

ALIGNMENT PIN

ALIGNMENT PIN
4X MAGNETIC MOUNT

 'B' SEE TABLE 

HANDLE

 
9.83
249.8  

 
9.83
249.8  

MODULE REMOVAL
USE 3mm HEX TOOL
(HANDLE HIDDEN)

ALIGNMENT PIN

ALIGNMENT PIN
4X MAGNETIC MOUNTS

 'A' SEE TABLE 

HANDLE

MODULE REMOVAL
USE 3mm HEX TOOL

OUTDOOR UNIVERSAL ACCESS LED MODULE
5.9, 7.8, 10.4mm PIXEL PITCH

OUTDOOR UNIVERSAL ACCESS LED MODULE
2.9, 3.9, 4.8mm PIXEL PITCH

MODULE THICKNESS
'B'

PITCH SIZE mm in
2.9 mm 17.6 .69
3.9 mm 16.5 .65
4.8 mm 17.7 .70

MODULE THICKNESS
'A'

PITCH SIZE mm in
5.9 mm 17.1 .67
7.8 mm 18.2 .72

10.4 mm 18.2 .72

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

-----------------------------------

SIZE

D
PART NO.

 - 
DRAWING NO.

VVR OUTLINE
REV

A
SCALE

2:3 DO NOT SCALE
SHEET

3 OF 5

050-0218-02 REV B

LED MODULES ARE LEFT/RIGHT SPECIFIC. DIMENSIONS ARE MIRRORED 2.
BETWEEN LEFT/RIGHT MODULES. LEFT MODULE IS DISPLAYED.

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTIFICATION.1.

NOTES: UNLESS OTHERWISE SPECIFIED.



 
9.84
250.0   

9.84
250.0  

 
17.32
440.0  

 
1.18
30.0  

 
19.69
500.0  

 
39.37
1000.0  

 
1.178
29.93   

17.32
440.0  

 
19.69
500.0  

 
39.37
1000.0  

LINK BRACKET

M10X1.5 X 20 LONG HCS

TOP HANGING
LINK BRACKET

M10X1.5 X 16 LONG FHCS

1.34
34.1

MINIMUM

[1.46]
37.1

MAXIMUM

 
3.62
92.0  

1.89
48.0

MINIMUM

[2.01]
51.0

MAXIMUM

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

-----------------------------------

SIZE

D
PART NO.

 - 
DRAWING NO.

VVR OUTLINE
REV

A
SCALE

1:3 DO NOT SCALE
SHEET

4 OF 5

050-0218-02 REV B

A MAXIMUM OF 20 CABINETS MAY BE HUNG IN A SINGLE COLUMN 5.
FROM A HANGING BRACKET.

LINK BRACKETS ARE INSTALLED BETWEEN THE HANGING BRACKET AND 4.
TOP ROW OF CABINETS USING M10X20 HEX CAP SCREWS. INSTALL LINK 
BRACKETS BETWEEN CABINETS TO CORRECT NON-UNIFORM FLATNESS 
ON THE FRONT SURFACE OF THE VIDEO WALL.

TOP HANGING LINK BRACKETS ARE INSTALLED BETWEEN HANGING 3.
BRACKETS USING M10X16 FLAT HEAD CAP SCREWS AND CONNECT TO 
THE FIRST ROW OF CABINETS USING M10X20 HEX CAP SCREWS.

50mm (2in) OD TUBING RECOMMENDED.2.

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTIFICATION.1.

NOTES: UNLESS OTHERWISE SPECIFIED.



 
1.97
50.0  

 
19.67
499.5  

 
9.83
249.8  

 
4.57
116.0  

 
5.76
146.4  

4X M10X1.5 MAX
10mm DEEP

CABINET RELEASE LATCHES

CABINET LOCKING PINS
INTERFACE LOCATIONS

 
19.68
499.8  

 
1.97
50.0   

1.97
50.0   

17.72
450.0  

 
39.35
999.5  

 
4.57
116.0  

 
5.76
146.4  

CABINET RELEASE LATCHES

6X M10X1.5 MAX
10mm DEEP

CABINET LOCKING PINS
INTERFACE LOCATIONS

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

SIZE

D
PART NO.

 - 
DRAWING NO.

VVR OUTLINE
REV

A
SCALE

1:3 DO NOT SCALE
SHEET

5 OF 5

050-0218-02 REV B

50mm (2in) OD TUBING RECOMMENDED.2.

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTIFICATION.1.

NOTES: UNLESS OTHERWISE SPECIFIED.


	CABINET
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Section View A-A
	Section View B-B
	Drawing View10

	MODULE INDOOR
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25

	MODULE OUTDOOR
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34

	ARRAY
	Drawing View35
	Drawing View36

	HANGING BRACKET
	Drawing View38
	Drawing View41
	Drawing View42
	Drawing View43
	Drawing View45
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View50


